1742

o
R

oF
T 5

~—

<

!

Tor

< ™ O

0 © AN

<+

=7]

<t

0

4, 8, 2, 5, 602 LLE 57]o]r},




o= EE 1 8d 5 §F 5 50 H o] E97] SI4E XASke] YERd
Zio|t}, 40 u|he] At =49} 130 o)A o] At E4=2] g2 FL5foi et
SEI| 34 (3]) | st £ (Y)
107 ~ 40" 3
40°7% ~ 70 6
70°7% ~ 1007® 17
100°¥ ~ 130°® 15
130°¥ ~ 160" 9
A 50
> =
> Heh: 0.24

40 mRte] =2} 130 o9 A= o2 F Alwe

g2eo] o] e gong B9 12

=— =024
20 50 0




et HH fofl A &2 ¥l A AB,C,D 7t 3t ol § A Her
AR HHE BE E ) Q7R (T, ol Al H Ik g A A flof §1A]
Ol—l:]_)
w1

®2h @34 @A @s5h O 6

el AA] 2 Al e st HHS AAstE=Z A E =
HH ABC, 3™ ABD, 3™ ACD, ¥ BCDZ 25 4

o




4. TS 2N 1)/ m o, LAPB — %AAPC ol o, JAPB 9] 27]=7

405\A I

@® 50° (C@GOO ® 70° @ 80° ® 90°

LAPC = 40° + 80° = 120°
LAPB = %AAPC = % x 120° = 60°




-

@ DA AB 9 242 BF £ 19 $1%]¢] 9lrt.
@ =AY AB ¢ 24 CG = B35}

® @ ABCD 9 2A AB & 50|t

@ DA AB 9 BAE GH £ e $17]¢] Sle.
@) w42 BF £ B¥ ABCD of 4-410] He},

B

© &AE AB ¢t 2AE] BF + 2 oA ghdtt,
@ A AB ¢t A CG & LI HA]f Sl
® 242 AB = 3™ ABCD of Z3Hrt,

@ A2 AB ¢ B AE] GH & F3sitt.




ot

g3} go] A8 BE 9ol 4 ¢ S Ho] 2t 42 BC,CE S
e

ZY7y 13 uj|, ,CAE + /CDB 9] &9

D

@® 30° @ 45° @60° @ 75° ® 90°

AACE = ABCD ¢|B =2
(CEA = /CDB, /ACE = 120° o|2 &
/CAE + /CEA = /CAE + /CDB = 60°

his



